Side bar / Ford Transit Custom 24- L1

Item no: AS3481XX

Contents - QMK0014

A 1x 23032005 Mounting bracket right

B 1x 23032006 Mounting bracket left

C 4x 23031003 Mounting bracket Side bar
D 10x 23020004 L Bolt M8x30

E 10x 985Vv084 Nut M8

F 10x 125A084 Washer M8

G 8x 933100304 Bolt M10x30

H 8x 985V104 Nut M10

I 16x 125A104 Washer M10

@,rﬁ 0%

@T @ Qﬂo

Contents - QAS2000

# No Item no Description

1 2x SMV3107 Sidebar

2 2X 23011001 Plastic cap right

3 2x 23011002 Plastic cap left

4 12x 086568 25 Bolt M8x25

5 12x 985VvV084 Nut M8

6 12x 125A084 Washer M8

7 6x ULS804 Reflex, yellow (sideways pointing)

SIMIARTVAN

+45 5810 1200 / info@smartvan.dk

Rev241 1



Side bar / Ford Transit Custom 24- L1

Item no: AS3481XX

Front = » Rear

SIMIARTVAN v 2

+45 5810 1200 / info@smartvan.dk



Side bar / Ford Transit Custom 24- L1

Item no: AS3481XX

SIMIARTVAN vzt 3

+45 5810 1200 / info@smartvan.dk



